
Universal Quick Release  
Mounting BracketInstruction Sheet

© 2014, MotorGuide 69541 Rev AFor questions, contact Consumer Affairs at 1-920-929-5040
		  www.motorguide.com

8M0095972 / 8M0095973
Instructions

1.	 Refer to specific trolling motor instructions for 
mounting hole access and proper installation 
procedure. 

2.	 The Universal Quick Release Mounting Bracket 
consists of a top and bottom plate. Separate top 
and bottom plate to mount. Determine location for 
mounting. 

Top Plate

Securely attach the trolling motor mount bracket to 
the top plate using the hardware provided. Two sets of 
fasteners are provided with different lengths (1/4–20 x 7/16" 
Socket head cap screws, and 1/4–20 x 3/8" Phillips pan head 
screws). Choose the fasteners that maximize the thread 
engagement into the top plate without protruding through 
the opposite side.

Note: Additional 
top plates can 
be purchased 
separately 
(8M0095973). 

Bottom Plate

Using the bottom plate as a template, mark and drill 
four 17/64" holes in the desired location. Using 3" bolts, 
attach the bottom plate to the boat. Add a rubber washer 
in between the plate and the deck of the boat and a steel 
washer under the boat deck followed by the nylock nut. 
Tighten firmly. 

Note: Verify adequate clearance on the boat prior to 
drilling. 

Kit Contents

1 - Base plate

1 - Mounting plate

1 - Hardware package

4      1/4"–20 x 3" mounting bolts

4      1/4" flat washer

4      1/4" rubber washer

4      1/4"–20 nylock nut

6      1/4"–20 x 7/16" socket head cap screws

6      1/4"–20 x 3/8" phillips pan head screws

Required Tools for Installation

•  7/16" wrench

•  3/16" hex key

•  #3 phillips screw driver

•   17/64" drill bit

Attachment

To attach the top plate, 
make sure the handle 
is in the open position. 
Set the top plate on the 
bottom plate. Slide the 
top plate to the port side 
of the boat until the 
wedges engage. Close 
the handle and secure 
with either the included 
clip or a padlock (sold 
separately).

Detachment

Remove clip or padlock, open the handle. Slide motor 
toward the starboard side of the boat until the wedges 
disengage. Lift the motor straight up to remove motor from 
the boat.

Bottom 
Plate

Top
Plate

Bottom 
Plate

Top Plate

Open
Position

Closed
Position



Support de montage universel 
à dégagement rapideFeuille de directives

© 2014, MotorGuide 69541 Rev APour toute question, communiquez avec le service à la clientèle au 1-920-929-5040
www.motorguide.com

Directives

1.	 Reportez-vous aux directives au propulseur électrique 
précis pour connaître l’accès au trou de montage et la 
procédure d’installation adéquate.

2.	 Le Support de montage universel à dégagement rapide 
est composé d’une plaque supérieure et inférieure. 
Séparez les plaques supérieure et inférieure pour les 
installer. Déterminez l’emplacement du montage. 

Plaque supérieure

Fixez solidement le support de montage du propulseur 
électrique à la plaque supérieure au moyen de la 
quincaillerie fournie. Deux ensembles d’attaches sont 
fournis avec des longueurs différentes (vis à chapeau à 
tête creuse de 1/4–20 x 7/16 po et vis à tête Phillips de 
1/4–20 x 3/8 po). Choisissez les attaches qui maximisent 
l’engagement du filet dans la plaque supérieure sans sortir 
du côté opposé.

Remarque: vous 
pouvez vous 
procurer des 
plaques supérieures 
supplémentaires 
séparément 
(8M0095973). 

Plaque inférieure

En utilisant la 
plaque inférieure comme gabarit, marquez et percez quatre 
trous de 17/64 po à l’emplacement désiré. Au moyen 
de boulons de 3 po, fixez la plaque inférieure au bateau. 
Ajoutez une rondelle en caoutchouc entre la plaque et 
le pont du bateau et une rondelle en acier sous le pont 
du bateau, suivie par l’écrou à frein élastique. Serrez 
fermement. 

Remarque: 
assurez-vous 
qu’il y a 
suffisamment 
d’espace sur le 
bateau avant 
de percer. 

Plaque 
inférieure

Plaque 
supérieure

Contenu de la trousse

1 - plaque de base

1 - plaque de montage

1 - paquet de quincaillerie

4      boulons de montage de 1/4 po–20 x 3 po

4      rondelles plates de 1/4 po

4      rondelles en caoutchouc de 1/4 po

4      écrous à frein élastique de 1/4 po–20  

6      vis à chapeau à tête creuse de 1/4 po–20 x 7/16 po

6      vis à tête Phillips de 1/4 po–20 x 3/8 po

Outils requis pour l’installation

•  Clé de 7/16 po

•  Clé hexagonale de 3/16  po

•  Tournevis cruciforme n° 3

•   Trépan de 17/64 po

Fixation

Pour fixer la plaque supérieure, assurez-vous que la 
poignée est en position 
ouverte. Placez la 
plaque supérieure sur 
la plaque inférieure. 
Glissez la plaque 
supérieure à bâbord 
jusqu’à ce que les coins 
s’enclenchent. Fermez 
la poignée et fixez 
avec la pince ci-jointe 
ou un cadenas (vendu 
séparément).

Retrait

Retirez la pince ou 
le cadenas, ouvrez la poignée. Glissez le propulseur à 
tribord jusqu’à ce que les coins se dégagent. Soulevez le 
propulseur directement vers le haut pour le retirer hors du 
bateau.

Plaque 
inférieure

Plaque 
supérieure

Position 
ouverte

Position 
fermée

8M0095972 / 8M0095973


